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Sectors of the Indian Economy 

1. Which of the following is included in tertiary sector? 

(a) ATM booths 

(b) Call centres 

(c) Internet cafe 

(d) All of them 

2. Only ………… are included to know the total production in each sector. 

(a) Final goods and services 

(b) Intermediate goods 

(c) Only goods 

(d) Only services 

3. At the initial stages of development, ………………. was the most important sector 

of economic activity 

(a) Primary sector 

(b) Secondary sector 

(c) Tertiary sector 

(d) Organised sector 

4. In the past 100 years, there has been a further shift from secondary to 

……………. in developed countries. 

(a) Primary sector 

(b) Organised sector 

(c) Tertiary sector 

(d) Unorganised sector 

5. Mention the largest producing sector in 2003 in India ? 
 



(a) Primary 

(b) Secondary 

(c) Tertiary 

(d) Unorganised sector 

6. Name the sector which continues to be the largest employer even in the year 

2000. 

(a) Secondary 

(b) Primary 

(c) Tertiary 

(d) Banking section 

7. A situation in which more persons are employed on a job than are optimally 

required. 

(a) Structural unemployment 

(b) Disguised unemployment 

(c) Cyclical unemployment 

(d) Seasonal unemployment 

8. A study conducted by the planning commission estimates that the following 

number of jobs can be created in the education sector alone. 

(a) 20 lakhs 

(b) 15 lakhs 

(c) 18 lakhs 

(d) 25 lakhs 

9. Out of 200 million children in the school going age group, how many are 

attending schools? 

(a) One – fourth 

(b) Half 

(c) Two – thirds 

(d) One – fifth 

10. According to planning commission, if tourism as a sector is improved, every 

year we can give additional employment to people more than 

(a) 25 lakhs.            (b) 30 lakhs.                 (c) 32 lakhs.               (d) 35 lakhs 
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